-1 and 2 are solutions of the equation below.

xt—-xP+2x?2-4x-8=0
The other two solutions are imaginary.
How could you find the other two?

Divide this polynomial by the factors (x+1) and (x-2).
This will leave you a Quadratic which you can then
either factor or use Quadratic Formula to find the
remaining two solutions.

Polynomial Long Division:

X2+ 9x + 20
X+4

X+4

(x4

X2+ 9x + 20

X 15

(x)+ 9x + 20

— X% 4%

NSX +2o
m

1 5‘\ quotient

8 | 120
/ \

divisor dividend

Find this quotient.

x+3
2xT—13x +40
X+3 [ 2x3 =TIxE X =9
— TX> 6x3

I3 1x
TIRXE 739

2x3 — 7x2 +x-9 :LZXL_I%X-\-L'O R= 129




Ways to leave a remainder.

—

23 —Ix* +x-9 :lzxz_ 13x+40 R = —129 ‘
x+3

20 =72 4x-9 o3y 40— 2
x+3 %+3

Find this quotient.

2x3 4+ x> 19+ 10 - ix1+gx_zl
2x—5

XS 43X -2
X5 [ 2> 4w 19x 110
T 2XY =g
HoXt —( 9y

T ex <5
-~ Yx L0
~4yHO

O

Find this quotient.

4x3+2xx2_—915x— 17 __|L{>(7. -‘—gSX +327 R=29 ‘

G £38% ¢ 320

(%D U™ roxt—15x 7

S YA
IEXE IS
38 jvay
S2UX —1
- Sui(\zl(’f
qu@
Find this quotient.
203 —Tx+8 =|2x* +ox 41 R=411 |
SRR VIV

X=% [ 2% 0x= - Ix s
XY —Gx~
0 —lx=
X =T
T olxr £y

LIX &
~ X <33
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